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E 25 T 3 20 1 5 Oy

v, = v,c08 0
} (1.31D)

v, = v,sin § — gt
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x = vycosf et
} (1.32)

y = y,8in @ » z‘,—%gt2

AL 3D 32D WRRFAE P A EAB AN BN WAz 3 2% H 7 10 2
N 32 Bl F KI5 ) B A S S i . i BT PR GE 2 A 1R ¥ A s 21 1]
v B0 5 BE BT LRI T] T 2R

T— 2v,sin 0
g
AT e R B CR T A S AR EDY
vt sin®0
= g
AT B AR CRIV AL 2 5 e v B AR R B 28 5 KRR ED X R
X — b sin 26
g

X — 2R 30k AT DAUERA - 5400 3 B /MR [ IF . 7R 5T 0 55 T 457 A9 00 T S R de Kk
FE3 L 32 B PIP 25 ¢, PT A A B B TE s B0Ch

2
_ 8x
= rtan 0 — —
Y 2 vicos’l

Xt F—RE M 0o F 0K — PREF R — Sl i R U A X M AR AE R E B AT

EZAE S LB T RIS B o L AR TE 2 s S BT RS AL T AR I . A TR
LB/ OLT ENTA AT A LR . SEBR b7 9 s 0 A 2 o AT B LR R A
AEARKZEMNE . B, LL 550 m/s BRI 4579 5 A 5 A 556 % B3R 2 05 i
SEFEAE 30 000 m LA b, SEBR b i TR R AT 8500 m A BIFTE R 1/3. T ek
AT B R TR G R L TR SE e BEA T RS

2 E SRR AN DR TN R . R TR R CHEER R BR A S ) AT,
H T BRI % 23 R A G TT REEE AT A9 U T 2 A 0 1) 25 ol
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AU VISR CAT B sz 2 SR T RAR /N o B T 1 SR DR B4 3 LI R £ R/
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1.4 PHEMBKk, A—FALKFIEME EAFZGA 0=30"Fik £ v,=20m/s B &
MBEHHE -2, REFFHEEBRY KR PFEASE LA=10 m, KFRZESTHE
W7 EATREHT HHOTEE 6 KD Fodr @ BdefT?

B1.15 f 1.4 HIA

BR LIS S R oy AR AN A 115, IR AL 32 A

T =v,cosf et
. 1
y =u,sin g« l*7glz

V(s ) FRE WG AR U y=—h=—10 m, KILAEHM v .0 (H—IFRAE —AE

flozzox%th%xs;.Sxﬁ

UL Tr R, AR 6 =2.78 s 1 —0. 74 s, HUOIEEU . WA ERAE I FJ5 2. 78 s B,
A H B B R KEEE
x = wycos @+t = 20X cos30°X2.78 = 48.1 (m)
FIH R . 3D
v, =v,cos 0 = 20 X cos 30° = 17.3 (m/s)
v, =y sin @ — gt = 20sin 30°— 9,8 X 2.78 =— 17.2 (m/s)

b B R AR Ry
v= v+ v, = V17.3" +17.2° = 24.4 (m/s)
IR LK T Y 2 £
o v, —17.2 _ o
a= arctanvw = arctan 7.3 44. 8

Y R AR 3 3 (0 — AN ) A 5 £ 0=90°, AT S 2] E#ssh . kR —A s nE i
iz gy e A AR R 2 Y 2R AL S T L i T A (L 3D g 8 U A (1L 32) R g AR
2R TRA

v, = v, — gt (1.33)
y = vgt*%gtz (1.34)

XS R K AE I A %R B8 16 I o, BTy AO(E R 2 ARKME , ol IE AT 47,
v, >0 RN ZI YA IE ) E 3z 8l o, <0 RORIZN ZI YR B IFER Tizsh, y>0 %
PN IZ N Z AR B AR R b y<<0 ROR WKL IR B R LR T
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T I ) 38 Sl L B A R R I LR, WL s o IR R BN A BRI
(B 1.16) , 2R3 B v sk al AN 1D RARN

B
dt

PO 48 R N OA {8 T 4k e i 1 #8520 s = R0,
Bk ZAUA LU T ROEH & 47

_pdd
‘U—Rdt

orfr W i 0 N 1 ST rad /s 3

Use WU w R M, 1
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3

w = & (1.35)
-
B 1,16 2R3 55 4 ok i LFEAA
v = Rw (1. 36)
X} 5] R B JEE 3l s F o LR AR PR ez Bl JE 0 ] SR AN
T — ¢m (1.37)

w
T S AR SR 3 Bl B 1R 4 T LA B ) ] 2l R AN el A L (U R R Y
] SRR L T DL SR A I B, R R o SR AR (R A A2 B0 g n B
W 1,17 Ca) it s o (O Flo e+ A 43 51 s it sl i B JB iz sh 225 B siFn C g iy Y 3
JE Rt BN R e (L. 22) AT

v+ AD —ov(@) . Av
a = lim = lim =
A0 At a0 AL

v (t+Af) v(1)

(a) (b)

B 1017 AS (5 JE 32 Bh A
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Ao WA 1 17O iR AR o (A0 EREI— B R ES T o0 AR E (Av),
(Av) A

Av = (Av), + (Av),
T a 1926352 R 5 L

(Av) (Av)

a = lim —" 4 lim —~ = a, +a, (1.38)
A0 t a0 At
Hrp
. (Ao, _ 1. (Aw),
a, = lim , a, = lim ——
a0 AL a0 AL

PR UL A a AT LU SO P 23 0 A .
FesRA MBS a,, B 1. 17D A5, (Av), BIEUE R
v(t+ At) —v(t) = Av
Rp 45 F 3R ARk . T2 a0 MEUE N

1 A?} . d‘U
= lim ke
a0 At dz

B4 TR MR T A0 I, (Aw), W5 T o fE R — B LI e 907
I L 15 25 LI B8 DT D7 1o o 33K — J0 ik 8 st 400 e R B DD ) o R O B e R Al
BIPRAE . a g — BRI IE R . @ >0 R MR A R SX I a, B9 77 0] 5 v 1)
Tr AR 3 @ <20 3R 3 R BE AT (R 9N X @, 975 10 5 T o 1977 [0 AH

FA (1. 36) 36 AT 15 51

(1.39

_ d(Rw) _ g do
R R de
%i‘%%lﬁ)ﬁi@iﬂﬁlﬁfﬁﬁﬂﬂﬂ FZE LR, ERmEER K/, B ST E rad/s” 8%
1/s" Lk o 37 f 0 3, WA
_ do
“ dt
Mo BEE CEAIMERBE B, I, 0.0 BT LK AN E BB 3 2 vv.a
Loy

a, = Ra (1. 40)
R 47) ) n 5 45 T2 A2 5 A hn 1R A afe FL
T ERRASINMERE a, . FLEE 1. 17 ) F1 () H i 6 AN F8 0L 59 = #8 T 7 29

| (Av), | _ BC
v R
2
| (Aw), | = “"gc

XA BOCHSZIRKEE . 2 Ar—>0 B, ik — 5% KU T RSB As A% . W, a, 9K
/N K
| (A0, | i YOS
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: v
a, = lim — lim
A0 At AHORAt R a0 At
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. As

lim = =wv

a0 AL
e

@ =% (1.41)
FIAH (1. 36) , 8715

a, = 'R (1.42)

2T a, W70 NE L 17D A DIE R, 2 Ar—>0 I, AG—>0, 1 (Av), BYJ7 W] ] T
T BT o W7 mmids m B . R a, B9 ) 76 AT AT IR 20 8 1 BT B ARG Y026 1 ifi iy
BRI TR L o XA 0 R e o 0 35 B K R AN BT . 9k R R il T
5 Tr) () B0 TG B RS B TR R AR AR R . R R s, AR R . fE &b, BT
BT NS I LL @, =0, TEXFIEOL T . WA LLIA Sy R—>co, 0 (1. 41) 1 25
a,=0,

T a, B2 a, 0 E AT LU RS 30 0 8000 B Y
K/NH

a= Vi +da* (1.43)
PhpRaNINEE a S o Z A ryJe (& 1.18) 1
— an
B = arctan “ (1.44)

LI L BB G T I B B e R a5 R Wl T
A ] 2 g CRPSP- 1 i) fh2kig g, XA AKX iy
AR NI 2R b BT 9 R Ak il AR AR CRIZ it 2k Y
0 H P B AR AR o I IZ R R th 2z 3
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VAn=180 r/min #9432 4z (W 1.19) ., X A & & IF
X)E .M BB AL, % t,=1.50 min & FH1EkE,

(D) RPHERRRGEDARE 0 HEREE
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a=|al|= "N

Uo 3
(2) REXMERIF LB t=80 s 6 Z KA
RE e e iR E oa, EE MR E a, R IRE a,
B (D BRI P IFUR 6 3 A

_ 21180
60

20 (1. 33) R A% J5 R B 46 3 32 .19 fi) 1.5 HI&l

= 18. 8 (rad/s)

wo = 2mn
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27t X 180

50 X 0.50 = 9.42 (m/s)

vy = wR =

(2) T 320wk 38 52 10 o i

_wr —aw _ 0—18.8
a= o 30 —0.209 (rad/s?)

B2 (1. 400 AT, 38 2 (0 577w Jon 3 B Al gt 5 11

a, = qR =—0.209 X 0.50 =—0.105 (m/s*)
5 2R 7R W) ) 0 BE a, 9710 5 8K BE o B9 07 mAE B, AL 1. 19 BROR

g SR N BE SR ¢ 2 AT B A
w=w +at = 18.8—0.209 X 80 = 2.08 (rad/s)

H (1. 42) AT A5 ¢ 220 35 23 4 9% 1w ik B Dy

a, = 'R = 2.08% X 0.50 = 2.16 (m®/s)
D5 A 1) G . BB BN R B KN

a= +Jal+at = /0.105% +2.16° = 2.16 (m/s?)
I T B A () R ARIB B WSS T . LA 0 3R BN U5 1) 5 AR i e A Can i 1. 19 R L W
— ac | 0.105 _ o
f = arctan - ‘ arctan 216 2.78
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¥RV, (LE AN Arve o BEAER— Ac BFEI A, — /DR S TEAE AW A SBE B A
HALRE N Arsy o AEIX [F)— I [] P 76 BRI ZNERJE N Ao sER B B s i . A L 9 12 4%
& Are . (EX=MUBAFSH . TREH —FRR BN 5 —FRRSH R
AR B s [) — /N ERAE [) — I 1) PN B9 52 B o A XS T il T80 R0 425K P> 228 280k U, 2 AN A T Y
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y v’
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= T e
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I VE |
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=
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Arg: = Arsy + Aryg (1.45)
DL At BRI, FE4 A0, 1] DL 2 AH R 0 5 B 2 1R 56 &, B
Vg = Vsy T Vvp (1.46)

PLo RR TSN T2% R SCRIRR N Oxy) I, Lo FRFE—F AT T2 %K S
GEARFRN Oz’ y O MERE L u RRBH RS MM TS %R S Fahng el &, W X n] 2L—
i M 7R
v=uv +tu (1.47)

(7] —= JB2 a5 A X T T AR ST 1 08 2 78 3 0 3 B 22 JR] Y 3K — 56 R IY A A ) B B AR #R .

TR EENERAEENTREN ARG S, HENSBEIEER 2% R
AR B E SRR R . A TAEMS% R, BT LR R K &S R
IE S, i (1. 18) . R I AR 0 3 A M TS S A2 2% &, 8 SR IE =CRURE o) B
B R /INAT O T (M) e 38 8 A2 46 I3 P A 0 R b LA T R NS Z TR . X —
PR 6 B ETEA UL .

SR i 5532 Bl TR S B[R] AR A ) SR 2 (L 47D X ¢ B 500, 0 T A5 30 AH R A i ek R
ZIEEEER. Ua ZRBUSHXT TS %R S BIERE, UL o' R FSH T 2% 2 S /i
WL a, RSB H R S TSHRS Fahmnd g, Wi . 4D a5
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W d
B
a=2d +a, (1.48)
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